S58-A
SUMMATIVE ASSESSMENT -1 -2017-2018

MATHEMATICS PAPER -1
(English Medium) |
PART-A&B
Class : X _ (Max. Marks : 40) - Time : 2.45 Hrs.
Instructions : :

1. 15Minutes are allotted for reading the question paper (Part A &B) in addition
to 2.30 hours for writing the answers,

Part - A answers should be writtenin a separate answer book.

There are three Sectionsin Part - A.

Answer all the questions.

Every answer should be visible and legible.

There is internal choice in Section - I1I.

Part-A & B should be given atthe beginning of the exam only

Marks : 30 PART-A

NAD R W

. Section - 1
Note: 1. Answer all the Questions.
2. Each Question carries 1 Mark. : ARl e=d

. Use Enclid's division lemma to find the HICF of210 and 55
2. ‘Wiite the roster and set builder formof the following statement
"The set of Natural Numbers which are less than 10"

3. Write the standard form (General form) of quadratic polynorma] and cubic
polynomial in Variable Y.
. 4. AandB: aretwo sets suchthat 4 — p.
- Draw Venn dlagrmn for 4U B
Section -1I

Note: 1. Answer all the Questions.
2. Each Question carries 2 Marks. §x2=10

5. A={x/xisprime factor of 30}
 B={x/xis factor of 24} thenfind 4, p and 4 ~ B
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If o, B are Zeroes of the Quadratic polynomial £ (3) = x* - px + q then find the

Value of ¢ — g*

Show that any positive integer is ofthe form 3q {or)3q+ 1 for some integer q

Ifthe zeroes ofthe polynormal %7 - 10x+ 16 are the dimensions ofthe rectangle

then find its permmeter.
Give examples of finite and infinite ssts each from your daily life.
Section - IT1

Note 1. Answer all the Questions.

10.

1%

2. Each Question has internal choice

3. Each Question carries 4 Marks. 4x4=16

a) I log [% -3].—..; (log x-+log ¥} then the find the value of fz +J’1

(OR)
bl A= {x/xis Prime mumber less than 15}
B = {x/xis composite number less than 15}
i (4—B)u(B-4)
(i) (4B} (4B)
a) Find the remaring zeroes of the polynonmal.

: 3 .43
f(x)=2x" -2 - TR* + 3%+ 6, if its two zeroes are - 1? and oY

(OR)

Eoe ]
b) i) If (2.3)%=(0.23y = 1000 then find the value af=— =

2 z

X
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1
12.  a)Verifythat -é-.L—i are the Zeroes of the cublc polynomial 9,3 + y* — 5542

and also check the relation between the zeroes and coefficents in each case
(OR)
b) Prove that /7 isirrational by proofof contradiction
13.  a)Drawthe graph ofthe polynomal £(x) = x* - 258
(OR)
b) Bisthe set of letters in the word "MATHEMATICS"

Distheset ofletters inthe word "HEAD MASTER”

Represent the following in Vern diagram

) BuUD i) B~ D 1) B-D w)D-B



Regd.No. 58-B Marks:

SUMMATIVE ASSESSMENT - I - 2017-2018
MATHEMATICS PAPER-1

(English Medium)

Class- X

Part-B
Time : 30minutes Marks : 10

AS -1 AS -1 A8 -TI1 AS - IV .F';S—'_V

Q.No |1 .5 6|10 |11 14719 T4 12p20-23) 2|13 24-27| 8 |92|28-31 4 H13]|32-33
Marks
Total
Name of the Student : -.—........ RoIING £ i it
Note: <

1. Answer all question in Part - B

2. Each Question has 4 options. Write the capital letter indicating the
answer in the given brackets.

3. Marks are not awarded for over writing answers.

4. All questions carry equal marks.

14, Iflog’s =4 thenthe value ofx { }
A 13 Byl ) 10 e

15 Ifthe LCM and HCF of xand I8 ail'e 36 and 2 respectively then
the valie of x ! { )
A)2 B)3 ¢y 4 D1

16. IfA=1{1,2.3,4,5) B=1{23,6.7) than B - Ais ( )
A1{1,45} BI{2367) O{67 Dy {1,2,3.4,5)

17.  HP={ab.c} then the munber of subsects of Pis ( 3
A)3 B)b6 ) B D)8

18, If-4isa zero of polynomial x* - x - (2 + 24) then the value ofkis ( )
A3 B)9 C)6 )-9

19, The remainder when 742 + 3y~ 11sdivided by x+ 2 { )

A)15 B)-15 €y 3 D)-3



20.

21

22,

23

24,

26,

47

28.

58-B
The Nummber of decimal places after which the decirmal expansion of rational

. 23 .

number —— will terminate 15 ( )
e .

Al B)2 oy D)4
P is the set of factors of 12. Which one of the following is not
a mermber of P? ( )
Ayl By4 5 e D12
The quadratic polynormal whose surn of zeroes is 0 and one of
the zerois 3 ( )
A) 59 B) 27 +9
C) 2?43 D) i—3

1
Whichofthe following quadratic polynonal having zeross a and- 1{ )

A) 4x' +x+4 B) 4x' —x—4 @) 4x* —x+4 D) —dx’ +x-4

If o, f3, v arethere zeroes of cubic polynomial ax’ +bx* +ex+d (a#0)

theng 8+ By +ye = \ ‘sl )
A = B) < oy =2 =

a a g a
P = {x/xisawhole number between 3.5 and 6.7} then
Rorster formofP is ( )
A) (3,4,5.6) B {456}
C) {3,4.5} D) {3.4,5,6.7}
'KiS.ElEI'ﬂEl'lt of set P' represents symbolically 1 ( i
AyxcP * B)xoP C)xeP D) xeF
2 = 10 represent. in logarithmic form for base 10 ( )

A)logh=x B)logh=2 ©)logi=10 D)log;=10

Product of first 10 natural numbers is wnttenas 27 x 3 55 7
then the value of a+b+c+d is e
AT B) 15 C) 16 D) 14

L]



29,

30.

3l.

3.

r a4
x

[Fx+y=0(x= () then the value of | ;} ( )
A)2014 B)-2014 O 1 D) -1
P is set of Squares , Q is set of Rectaglesthen P Q b o
A)P B)Q C) ¢ D)PorQ
Iflength, breadth and height of a cubeid are (x+1), xand (x-1) units
then the vohme is | ( )
A)x-1 B)x*-1 Oy ¥ -x Dy x? =2

Which a{n[\n‘g the following figwes( 4w B) — (4~ B)represents?  ( 1
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)

33 Which offollowing quidratic polynomial having two distinet zeroes (

T F 3

e




